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Addition of Hexadecimal Numbers

1+1 = 2
1+2 = 3
1+3 = 2+2
1+4 = 2+3
1+5 = 2+4
1+6 = 2+5
1+7 = 2+6
1+8 = 2+7
1+9 = 2+8
1+A = 2+9
1+B = 2+A
1+C = 2+B
1+D = 2+4C
1+E = 24D
1+F = 2+4E
2+F = 3+E
3+F = 4+E
4+F = 5+E
5+F = 6+E
6+F = T7+E
7+F = 8+E
8+F = 9+E
9+F = A+E
A+F = B+E
B+F = C+E
C+F = D+E
D+F = E+E
E+F = 1D
F+F = 1E
Ok,
numbers up,
is one.
E.g.
18FAB
+ 5CDAA
First,

343

3+4 =

345
3+6
3+7
3+8
3+9
3+A
3+B
3+C
3+D
4+D
5+D
6+D
7+D
8+D
9+D
A+D
B+D
C+D

D+D =

1B
1C

4+4
4+5
4+6
4+7
4+8
4+9
4+A
4+B
4+C
5+C
6+C
7+C
8+C
9+C
A+C
B+C
C+C
19

1A

now to do addition,

5+5

546 =

5+7
5+8
5+9
5+A
5+B
6+B
7+B
8+B
9+B
A+B
B+B
17

18

add the one's digit:

B+A

6+6
6+7
6+8
6+9
6+A
T+A
8+A
9+A
A+A
15

16

15,

C

D

7+7 = E
7+8 = F
7+9 = 8+8
8+9 = 11
9+9 = 12
13

14

10

you do it just like normal addition.
start by adding the one's digit and carry the 1 if there

so I carry the 1:

Line the



Now, add the ten's digit: A+A = 14, plus the 1 I carried = 15.
Remember to carry the 1 again:

11
182AB
+ SFCAA

Now, add the hundred's digit: 2+C E, plus the 1 I carried = F:

11
182AB
+ S5FCAA

Now, add the thousands digit: 8+F = 17, carry the 1:
1 11

182AB
+ LSFCAA

Now, add the last digit: 1+5 = 6, plus the 1 I carried = 7:
1 11

182AB
+ S5FCAA

So:

182AB + S5FCAA = 77F55
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